B2 DI A < FER
44

9 NEFE

1 FTOmEAIZ+H, —, X, TOVWITIANEANT, TRENDOXZEZTHSELSLY,
BE. BAF1BY EEINMEVERA, £zl D2 ZZRAVSBELAHYFT.

4 4 4 4=0
4 4 4 4=1
4 4 4 4=2
4 4 4 4=3
4 4 4 4=4
4 4 4 4=5
4 4 4 4=06
4 4 4 4=7
4 4 4 4=28
4 4 4 4=9




B2 DI A < FER
44

9 NEFE

2 TOmAIZTH, —. X, TOVITANEANT, ELENOXEZTRHSELSLY,
BE. BAF1BY EEINMEVERA, £zl D2 ZZRAVSBELAHYFT.

3 3 3 3=0
3 3 3 3=1
3 3 3 3=2
3 3 3 3=3
3 3 3 3=4
3 3 3 3=5
3 3 3 3=6
3 3 3 3=7
3 3 3 3=28




E 2D IINEAF B
44

9 NEFE

1 FTOmEAIZ+H, —, X, TOVWITIANEANT, TRENDOXZEZTHSELSLY,
BE. BAF1BY EEINMEVERA, £zl D2 ZZRAVSBELAHYFT.

TFILEAMTLARUNDEZ HHYET. £EICOEDHT
DOEOR o
= WEECEEKWTLES,

44+4—4—4=0 4X4—4X4=0
4X4+-4+4=1 4+-4+4—4=1
4+-4+4-+4=2 4X4+ (4+4) =2

(44+4+4) —4=3 (4X4—4) —4=3

(4—4) X4+4=4 (4—4) ~4+4=4

(4X44+4) -4=5 (4+4X4) —4=5

(44+4) ~4+4=6 4+ (44+4) ~4=6¢6

4—4-4+4=7 4+4—4-+-4=7

4+4—4+4=38 4+4+4—4=38

4+4+-4+4=9 4+4+4-+-4=9



E 2D IINEAF B
44

9 NEFE

2 TOmAIZTH, —. X, TOVITANEANT, ELENOXEZTRHSELSLY,
BE. BAF1BY EEINMEVERA, £zl D2 ZZRAVSBELAHYFT.

TFILEAMTLARUNDEZ HHYET. £EICOEDHT
DDA o
= WEECEEKWTLES,

3+3—-3—3=0 3X3—3X3=0
3X3+3+3=1 3+3+3—3=1
3+3+3+3=2 (3X3—3) +3=2
(3+3+3) +3=3 (3—3) X3+3=3
(3+3X3) +3=4 (3X3+3) ~3=4
3+3—3+3=5 3+ (3+3) +3=5
3+3+3—-3=6 3X3+3+3=6
3+3+3+3=7 3+3+3+3=7

3X3—3+3=8

3+3X3—3=9 3X3X3+-3=9



